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Given two points on a line, find the equation of the line by first finding its slope.

+ helf wr frnel b
41. (-6,4) and (12,7)

42. (-6,-2) and (-9, -10)
| 7-4 e S -(0-(-2) .
Slaee R T e 1 T = g
Lt U Prevore il oY G | s Ty 2 R £
Yy‘___ & Lb'\‘"S W e ('(-, ‘Z—a! I‘F we gl
X, 9 9z mx+ the point
‘ Wt C6,9): ¢
Let's use whe porn G L e it (‘9}-/0)
3‘7‘- mMm X +'b ; w,;.._{.mgL,wL
N -2= 8 (-7 Ba
Y = t _\é +b 2 AR b gt Hus -
+b -2 = =& "'b ‘j’—‘h’\X-&—b
4l detue " [de-goa
oA N5 SRt
b b= b
5 = ~l°:.?.',(5_‘ +b
- $ .
= Sx 1Y ~jo= 24 +b
29, 3:éx 5 D 3 ] b24 = 42y
4 = b
‘ g %x -Hq
Write each equation in standard form. _—
Same- answer,
43, y=2x+8

44. y=_§X_7

Standard Form 15 Ax +By=C , wherePA is not

Y\Qjcdh\u-& '

‘ 8 @ A B and C

¥y3 Yy =2x +8 FCY\H"V a)rg Qn\-ejer;
~2R F-IN . Vnu,\‘!‘\\()\B 2ach CYLO ‘FY'h(/'HM"-J)

K-devm s Pl\r.!'l) Yo chear he
Because A s nequh‘ve, e 1 Raction:

WMuat” VV\vaﬁ()‘-ﬁba.oLtﬂ\de by C. Lj - S.(“g_x-'])
a Sy = ~4% -35
(x5 =1R) s
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Write each equation in slope-intercept form. Also, identify the y-intercept point and the slope.

45. x + 3y = -12

-~X ==X
= =X — |2 ol;\n\d«e ?.%l')
3‘7 Side b‘j B
3y - =x=i2 Sphit e right
3 3 Side mte tuoo
’FYRc/h‘M
= =X =T
3% 73 73
~ -X _ PR (.
ﬂ 3 ‘-{ 3 ~§- 2

\
i \J = ':}- x —Y
Also | slope, m = “3L
Y-mt. ‘oo»‘n‘rl (0,-4)

Graph each line.

Al 5 =5 i
when all we know 15 y=5

X, Can be otnﬁ num pes .

46. 5x — 2y = -6

—Sx - -5x
“2y = -5% -G civide each
e bg -2
~ o TH 6 ool the
= -z rfo?ki" swele
inTfo twe
Dt o -__(g fachoo-.
—2. —2
Y= 2x ¢+ &
PN
b Aiso, |
Y = 2x 43 [m= 5 ond
e Y-int. o+ (9,3)
x =-4

when all we knew i5 x= -4y
Y Ccan be any V\Hmber:

-4 5)
__>Z ? (=25) Ed-f:o)
o5 (0% (-4,-3)
(6,'5) y
S
(A ] X
o |08 (65> I :
(-2,5) L 5) 4
’ 9 :
8 642 sl i el * 6B
2

L6
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